Auxiliary Problems for Chapter 9
1.
The recent crash of the housing market directly affected which component of the GDP equation?
2.
How are MPC, MPS, APC and APS related to disposable income?
3.
The table below shows disposable income and consumption for an economy.

	Disposable

Income
	Consumption

	$100 billion
	$90 billion

	$200 billion
	$150 billion


a)
What is this economy’s MPC? 
b)
What is this economy’s MPS?

4.
On the accompanying graph, draw the consumption function: C = $350 + 0.9Yd
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Disposable Income

a)
At what level of income does savings equal zero?

b)
If this economy’s disposable income were $4,000, what would be its consumption and savings?


c)  At the income level or $4,000, what would be this economy’s average propensity to consume (APC)?

5.
Complete the following table:

	Real Output Demanded (in $ billions) by:

	Price Level
	Consumers
	Investors
	Government
	Net Exports
	AD
	AS

	100
	180
	120
	50
	50
	
	0

	110
	150
	110
	50
	40
	
	150

	120
	120
	100
	50
	30
	
	300

	130
	90
	90
	50
	20
	
	450

	140
	60
	80
	50
	10
	
	600


a)  What is the equilibrium level of GDP?
b)  What is the equilibrium price level?

c)
If full employment occurs at real GDP = $200 billion, what kind of GDP gap exists, if any?

d)  How large is the gap, if there is one?

e)  Which macro problem exists here?

6.
Suppose the continued war in Iraq raises government spending by $200 billion at every price level in the preceding problem.

a) What will be the new equilibrium GDP?
b) Which macro problem exists now? 

